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fSectlon A (30 x 2 marks)

'“For each questlon from 1 to 30, four options are glven. Orié’ of them is the

. cdirect. answer. Make. .your cho:ce (1 2,:3: or 4) Shade your answer on’ the
-'._,._‘."’?-WOptlcal Answer Sheet Lo A

1. The flow chart below shows t_h"e_ properties _’Qf three different objects, A, B and C.

Start -

Dogsit have,
definite volume?™

Does ittake up the ‘
s Rapest g e
. contalner‘7 P

Does |thavea SR ST
def‘ n:te shape‘? T
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gt | — . -
. e - Ce e g .

Wﬁlchone ofthefollowmg bést rep'reeenfé objectsA B and ce

- '(1) Orangejmce | Plasticine - | Oxygen I
@) [ Plast . Orangej._,',,"ce 7 Oxygen S

16 i Oxygeh = | Ofangejuice | -

' Orange jmcel'.__ % -Pléétiéi'ne '3';'.'-‘-"-t L




" The diagram below shows a gérmiri-atini;_ seed.

" What is the function of the part labefled X2

(1) it gives the young seedling support:-
(2) 1t makes food for the young seedling.
(3) It traps sunlight for the ‘young seedling.’ '
4) |t prowdes the young. seedllng with stored food

e

The table below shows the charactenstlcs of anlmal Y

o I Iays eggs
» ft hasabeak.

« It has.a pairof wings.

o It has fea‘fhers onits body

. 'Whlch one of the foilowmg shows the correct order of stages in the hfe cycle of
-the ammal described above‘? :

| Aduit

Adutt | I

1. Egg

W . Ve AT Y I ) . » Y
EC AL Bl SELEPLIAIEC: ETTRA LR Y HA R [Pl e HOA X ol Rt

Nymph

i

.. — Pupa [T

FEENE BN .
3.
N kl
. E . . M
Lo . J=
. 5

Larva Adult Adult - Nymph -

Pupa




.4-. Four S|m|lar beakers, f;\ B C .and Dy arerplaced on: the:- same tabte Each.- -

beaker is filled with water at. the temperature as shown be[ow

Beaker A ‘ Beaéér B

25°C 90°C

- After5 minutes, which beaker contains water;yvi_th-the rno.s_t-hea_t_?- il

(1) "Beaker A
(2) BeakerB

(3) BeakerC -
- (4) BeakerD ' e
_5_'; WhICh of the__fo,tlowmg statements show the s:mllantles between the p[ant'

transport system and the human transport system‘?

Both systems transport food and water

~ Both systems have tubes to transport rnaterlals ‘
‘Both systems have tubes to transport oxygen and carbon dloxlde
Both systems need an':_‘f rgan.‘to pump the matenals inthe tubes to-

AU_C'-)'EIJB?"

_d:fferent parts ~
(,1.-.). A and B onIy ' -'
| (2) Cand Donly
“(3) Ay Band Conly . A
L :(4) A B and Donly S R R R




... The Iéé\’lé“s-,qf a mimosa :_p_.lant-‘clbsé_:cj_ Llp"-Wlien-'-touah_é'dff*: R

B TS

PR I A

This shows thatthe mimosa plant s a living thing because.itcan -

o '..(1) grow
' (2) breathe
(3) respond
(4) . reproduce

7. ... Denise can-easily: scra’_cch__a-wooc_ienstick“withf-aqmpper'-rfia‘ii.-~-- .

wooden stick coppernail .

[EICL L T

This shows that the copper-nail is ' N than iﬁé;.woédjéh stlck
: ('i;) harder

(2) heavier

(3) stronger
- (4) more flexible )



8. . Thedi iagram below shews the growth of-a. young plantwith two missmg stages
- “Peand Q. .




6. “Which one of tfie foliowing properties-is true for both oxygen and-balloon? .

a (1). Bothcanbe se‘_eﬁ.
(2) 'Both take up space.
(3) Both have fixed shapes. -
(4) Both have 'ﬁxedf?i;@!’tgmé_s.

10.  Which dne of the follbyﬁﬁg shows the correct mass of the apples on the
" weighing scale below? ] o -

) 16kg - o |
©@ 18kg . S e
(3) 20kyg - L __

(4). 2.2kg

- 11.  The funcfion of the stem-of a plantis to _
(1) make food
(2) takeinwater "
~ (3) takeinmineraisalts -
" (4) hold the plant upright - . -



12 ) Whatts the main functlon of the targe :ntestlne in the human d:gest:ve system'?

(1) 1t removes dtgested food from the body

(2) g _

@
_(4)'

13, In \_N‘hich oné
: . away?_‘_

, _'('4);_“




14+ Study the-picture-below.

_ 'tofnato on’
- '}tab_Ie;j. -

Which one of the following explains why Mary'can see _fhe. tomato on the fable? - -

1. " Ditecfion
P oight

(1) | @]

(3'?-; -




15 James ptaces a: metal SDOO‘ i 1,_ir]*‘as:e.uD'.Ofg"hot-;wat,er--as, showniin thef‘clj'a,gr,z:a_‘m

metal 7
spoon

a cup of hot water ’

The spoon becomes hotter after a whlte because

- (1) - the cup ‘loses heatto the hot watet”™ il
() ;jthe spoor; loses heat to the hot water |
(31)*' thé hot water gams heat from the spden ety Tt
‘ (4y the sooon galns heat from the hot water

“.“16.". The diagfam bélow show

wag

" '-'.(1) P and Ronly

' “(-2) Q and Sonly
(3 'P Riand S only
’(4) P; Q Rands’.




17.  Kelviry lowered am empty glass with: a.small-bal: mto a container of water until it
" touched the hottom of ‘the’ container: She observed that the water levelinside
the glass was not the 'same as the water level out31de The ball sill ﬂoated on

the water as shown below ' - i

_empty glass

~_balt’
P

- J containerwith water ", - -

What could be the mal_n reason for the dlfference ln the water level insrde and:
outside the glass’? '

(1) . The ball in the glass occupied space. L

(2) Theair trapped i the glass occupled space

(3) The ball pushed the water out from the glass

(4) The air trapped. in the glass dissolved in-the water.,

18. . Study the classification chartbefow:. - -

RS i Materigls | e SR
] ,_-:"- ) PR -.-3--‘- . ’_ , " . - R

- Waterproof | s Not waterproof

| Daw ‘. l:«:;-»-._, T '_t'.-.‘-"?‘-l.-"e"-‘-i‘-- SR fovieie] BN

Transp_aren_t | -Opaque | Transparent -| |- Opaque -

Which of the following- could object A and D possibly be?

A D

1 (1) ‘Newspaper- ~_ Raincoat
2) . Glas_s ) ' Cardboard -
3) _ Blanket - . ' " Newspaper
(4) | - Frostedglass - | T Cellophane -

1L



19 When a- dented ping. pong ball 5 placedetn _a beaker of hot, water as shown in
’ thefd[agram be{ow it becomes round:a aln ot

i

dented ping pong balt

Wthh one of the followmg explanatlens |s correct’?

Wy . -.n.‘.._, "“"".' e g 4 ..‘-‘ ._.._ T T D e S

(1)-' The ball expands .

. (2) Hotair enters the baII
. -(3) The ball increages:inmass: s
TE AT the ball'i increases zn volume : o

-

LR

- 20 Alan works at the Mass Rapld Tran5|t (MRT) statlon At the statlon he checks :
the gaps along the train trac:k as shown below. -

o

. gaps frain tracks.




21. Object Qs brought neara. bar magnet and ifs: end marked Zis attracted to the: -
-N-pole of the magnet as shown-below. - R ARNPENEE IRV E

: Before'_ .

.OE?iSG:tQ e C . ‘Bar magnet

LT S

After

. ObjectQ Bar magnet

Based.on the observation above, object Q could bea__ _ -

A nickel rod
B _capper md
C magnet

SNGE Aon[y
By Conly

(3) - AandCon!y .
@ ABadC,

29, Thediagram below.shows a U-shaped magnet.

Bala placed- the entire U-shaped magnet info'a biox of i tron pins. When hé ltfted 3
the magnet out of the box; at-which potnts er! he see the: most number of plns
attracted fo the magnet? : :

(1) AandB only
{2) Aand Donly
3) BandC only
(4) . Cand D only

13



‘Which- one of thé follolwing didgrams; shows:a possi of .

I the magnets? L T




245 A data[ogger was used . measure the: amount of hght pass:ng through three-
different matenals S, ‘T and U S

X 400 o - RN

e B ey 3. material U

£ | S ‘:

= 300 o - : .

5 N | material T

- . - ’

52004 - .

-9 ‘3 : R |

E. -7 . - ~ F -

o000 L R ST
: b SN SLIERAS . ¢ material 5

' 20 . 40 T

a0 do

Which of the following best‘-repreés__ent--materiaIs S; Tand U?

" Material S Material T “Material U -
(t) : -W-ﬁting paper 'f . Tracing paper Clear glass
‘(2)". Ca_rdboard - | Frosted glass . Clear glass
(3) - Writing paper * Cardboard . Frosted giass
(4) | -Clearglass -.'Fros_te_d_"g_lass T Cardboard

P

-. P T

-25. Three puplls made the followmg statements about human systems

- Sally
Siti

ﬁaja '

Our, skeleta[ and muscular systems help us, ln our movement
All-of our body systems are equal!y lmpox‘tant because they
work together in order forys to survive. _

Our bady cari still functlon propedy if our resplratory system

oxygen to all parts of our body

Whose statement(s) |slare correct‘?

(1) Siti only
(2) - Raja only.
~ (3) Sally and Sitionly
_ - (4). - Sally and-Rajaonly

S T

. breaks down becalise the cwculatory system \ wall stlll transport



. 26 The dlagram below shows four sets of. |dent|cal balance wnth ObJQCtS‘X Y and Z
o placedonthem ' o - R

Based on the dlagram above wh{ch of the followmg statements are true'? .

_A Object X is Ilghter than object Z
'-B' Object Yi is heawer than object X - :
C Object Zi IS heawer than the total welght of ob;ects X and Y

(1) Aand Bonly ‘
(2) Aand Conly
(3) - Band C only
(4) - A,BandC

27. The d_iag_ram."below shows a cooklngpof ~

L2

Wh[Ch part(s) Of the POt should not b“' i}.a good conductor fheat?

| ",__(1) A only
-(2) . Aand B, only
- (3) Band Conly
o(4) _C and D only




28. - The-diagram below shows a compass at rest.

Jane placed the compass and an iron -nail near the two ends ofa strong bar
magnet as shown below The iron- nail became atemporary magnet.

. strong'barmagnet

k-

fron nail

¥
D) =T
1]
1

o~ A

Which oné of the following correctly represents the polee' of P angi Q? ;

) P~ Q.
] South T Soum | s
@1 Nerh - - | North. — | et
-@ Nomh |  South | |

@ [ Sowth | . Nerth :

" 29; WhICh of the foilowmg actwltles WIII glve off heat and hght energy at the sarne '
tlme‘? o < . ‘

Ltghtmg a- Iantemf \ e
lgnltlng afire cracker
Rubbing twd hands together

~ Switching on.the computer monitor

ooufﬂ>'

(1) AandBonly. ..

(2) Cand Donly

(3) A.BandC.only
{4} A,BandDonly

17



30. 'Micheai' wants to'ﬁ_hd out if'plants absarb water through their roots.

) (®)

lid

o water.
(100 nil)

(100 i)

flower -

S vater oA water
1y (100-wmi) ~ - ) (100 ml).

. " Which of the two set-ups above should he choose to conduct a fair test? -

(1) AandB only

(2) . Aand D.only

(3) - Band-C only
. (4). BandDonly

A **i**End Of ,Paper***** .
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Sechon B (40 marks)

W hot Ietﬁ The number-“of marks- B
avallable is shown in bracket [ ] at the end of each questlon or part. questioi.

S (@) Bes_ides.food, what_doeé; the caterpillar n_eed*in:.ol_"dér-_fo_' stay alive? . - | '._:[2]5. SR :

I IE UL S (R
CamgRS A T

BRUE

-(i_i)'j

(b) Alter a week of feedtng, the'caterpill /ar’ above becomes Ionger 1

Th{S shows that lt can

f 32. - Choosg'the. correct w_r" 'qs from the box to answer the question below.
SR (You may use the:s‘ e+ "ord more than once ) )

s

o gullet Hige _i_nteg.,t'_inef‘i“‘r ‘ '..f'j'st'_c"zn‘w;a"éﬁ-‘ Sma!{ intéstine  mouth

. I a human digestive sySfem, nanie the pat wheis .

o (a)digeston first takesplace . e




- 33. The'diegr‘am‘belowshows Mr Lee's car.

(a) Name a suitable ‘rrAlvate_rial for making Part Q and R of the car. R |

(i) Part @ -

(ii)"Peit- RQ

(b) The material for part Q is chosen because it allows___ _ to p_e_ss..
through so that Mr Lee cansee the road. o - : 1]

'34. The diagram below shows fwo plants. '

“teaf

" plantA )T ' PlantB

(a) Based. what you can see from the dlagram above ‘state one dcfference between
- the stem of plant A_and ‘the stem of plant B. : . : B )

. (b) The leaves help both plants make____ . inthefight. ]



.39. Jessica used an mstrument to..measure:. the. temperature of.water: in a glass as
T shown m the d;agram below B A

instry_ment

Sl glass of water

1.

" 36. Desmond camed out an expenment to find oat, whtch mateérial ‘used for mak:ng cups
that .can. keep. boiling water hot for the. longest time. The table below shows the -
three types of matenals he used in hls expenment

CupA CupB [ . CupC

é,Mate,!;iglv Steel Sl Stymf

(a) Name two Vanables that Desmond should keep the same ln order fo conduct a
falr test e T R A [1] .

R Vé-ﬁa'ble 1:

: (b) Wthh i atenal should he se for ma' ng cup that can keep boﬂmg water hot for :
.o g 8 o Lo o ‘ - o ) [1] "

LAl




-37. ‘Patriciar made a magnet usmg ‘the: e|ectrtcal method

(a) Draw the wire in the dlagram below te show ﬁow she sét up the expenment 2} .

iron nail @ T T — .

" She repeated her expenment a few tlmes wuth a dlff‘erent number of batteries. The |
- table below shows: the results of her expenment

Number of battefies : : - Number of pins picked up by -tt1e nail.

PR A

{b) :What is the relatlonsﬁlp between the ndmber of. batterles and’

(c) State another way to increase the nu_mbe_r of pins picked up- By’tﬁ‘e- nail. ]

. pmsplckedupbythenall‘? a . [1].



38. Th_..é diagrams below show fhe different stages in the life cycles of animal V and W.

. Animal W -

(a) Identlfy Q. 1)

,w‘

(b) Based on the above dlagram state one dlffefence between the Ilfe cycles of
anlmais\/andw e e i w e a r M]

» ) ; i
' !

i

i

39. .. Matter expands when heated. The diagram below shows a himetallic strip that is -
made up of metal A and metal B. When héated, the plece of metal bends as shown

“in the dlagram below

- //////////// "

before heatmg

{5/




40, Larry placed a pmg pong ball and a. {arge square plece of wood between a Ilghted
' torch and the screen ina straight line as shown below

F'ronta'l Vie‘w; _ O

-, ping pong '
et “ball large square
plece of wood
écyeen )
- ping poag 7 farge

sguare
_piéceof
woad.

(a) Draw and shade the shadow that Larry saw ¢n the screen in the ‘box given
below. .- _ ' o [1]

- (b) Exp[atn hew the shadow is formed on the 'screen. : | 1

(c) will the shape of.the shadow cast on. the screen be the same if we switch the
.. positions.of the plng pong bal[ and the large; square pxece of wood'? Explain your
answer ‘ ) N . . _ [1]




: 4:-1__ - A pieceof gluminum: foil and: thICk towe[ wete: placed:on the table, Jasmme p!aced

one hand:on the alumiruum f0|l and the other on the towel as shown in the dlagram
below- :

aluminium foil -

-thick towel

* oo, (b)Explain-your answer ina). oo e e e [i]_
SRIRE Siifirwhich piece will fee! hoftér |
to Jasmmeshand’? Exp!amyouranswer. T R b4




.+ 42, - Mrs Tan'made a hele on 'é‘-_--cad-‘of cordetised milk'as showi beldw. -+ -

| Condensed
] milk:

She tned pouring the mllk out but found that it ﬂowed out Very sIowty

(a) Without- enlarglng the helé or. openmg the can, suggest a way to-allow the
condensed mllk to flow out faster. : [

> " (b) Explain how your suggestion in (a) would enable fhe milk to flow, out faster. (2]

- 43.- Grace heated an iron b[ock to 90°C She then put the iron- block |nt0 a basm.
containing water at 50°C as shown in the diagram betow : cL

" water

— hot iron block. . -

~ Complete.the tablebelfow. ~~ ~ “ " e '(45ni)'

_ I e Chéhgjein" : 3} S
. temperature (state | Explain what caused the change m _
- . -~ .- | whetherincfease or | temperature-. :
' decrea‘se)' '

- (a)_.' "~ Water

(b) [ron block




’ 44.  Study the set up below.
force
i S plungers

rubber

:, 1

L sheets
7 PRI ~ ﬂ/yﬁfﬂfa o

Syri_uffiﬂg'é A - | T Syrlnge B

(a) What will happen if the plungers, of’both syringes are pushed in with the same
amount of force at the same time? _ 2]

- (b) Explain your answer.in {a). : . ' : @

' *"**End of P' ' 'er
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Q31ai)Air
iWater
b)grow

Q32a)mouth
b)small intestine

Q33ai)Part Q—Glass
in)Part R—Metal
b)light

Q34a)The stem of plant A is thin while the stem of plant B is thicker.

b)food

Q35a)A thermometer
b)29°C

Q36a)Variable 1:Thickness of the cups.

Variable 2:Amount of water poured into the cups.

b)Styrofoam

Q37a)

iron nail



Answer Key


b)The more the number of batteries, the more pins are picked up by the nail.
c)Increase the number of coils around the nail.

Q38a’)A caterpillar.
b)The life cycle of Animal V has 3 stages but the life cycle of Animal W has 4
stages. '

Q39a)Metal A expanded more than Metal B.
b)Metal A will be longer than Metal B.

_

Q40a)

b)Light was blocked by the piece of wood.
c)Yes. The ping pong ball is smaller than the piece of wood and it allows more
light to pass through it.

Q41a)The aluminum foil

b)Aluminum foil is a better conductor of heat than the towel, so it conducts heat
faster away from the palm. :

c)The aluminum foil. Heat travels faster through the aluminum foil than the
thick towel. ' :

Q42a)He can make more holes.
b)The milk can escape from one hole and air can enter through the other hole.

, N - temperature (state ‘| Explain what caused the change in |
whetherincrease or + temperature. . :
| .~ decrease) | S
j@)f Water | CThe water opiis bepty
" nerease™ othe hob o ek .
()| TIronblock _ " IThe San Hack lose ot
| |Decreasé - the woterand thehosia. |




Q44a)The plunger of syringe A will go down but the plunger of syringe B will remain
at the same position.

b)Syringe A is filled with air while Syringe B is filled with water. As air can be
compressed, the plunger of syringe A will go down. The plunger of syringe B will
remain the same as water cannot be compressed.



